All results for Manganese isotopes

Manganese 45 (Z=25, N=20) Manganese 46 (Z=25, N=21)
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Manganese 47 (Z=25, N=22) Manganese 48 (Z=25, N=23)
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Manganese 49 (Z=25, N=24) Manganese 50 (Z=25, N=25)
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All results for Manganese isotopes

Manganese 51 (Z=25, N=26) Manganese 52 (Z=25, N=27)
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Manganese 53 (Z=25, N=28) Manganese 54 (Z=25, N=29)
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Manganese 55 (Z=25, N=30) Manganese 56 (Z=25, N=31)
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All results for Manganese isotopes

Manganese 57 (Z=25, N=32)
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Manganese 59 (Z=25, N=34)
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Manganese 61 (Z=25, N=36)

T 2T T T @ Rl
1 < Protons Protons
$ Neurons] ool e Neutons
S ] > £
= 2 Coof E
IV 3
Protons v \ A . L0 B 0
Neurons 5
] T T
L Y
< [ Proions
R eutrons
] 3 g Newons ] e
& 1007 ]
Protons p= =
Neurons S -
> ’
H 3
e s 1 2
2 w
— 3
Ml Ml
T < T
S
1 2
2 =
w 3
S5 q
w
o
N
Ll 1]

HFB-D1S Bruyéres-le-Chatel

o
‘ A s ] ‘
1 < &
S | Neurons
] oaf 1 EC
=h I £
& o =
5 s Soog- B
& - 5 S
Protons RZN €0 B L
Neurons x
7 T T
fonrl « [ Protons N
S g Neurons
T o - T
e
Protons <0 4~
Neurons Sk E
]
b3
£
& s0F B
q b3
Ml I
T < T
1 s
o
s s
1 o @4 4
2
4 w
N
] Q.
o W i

Manganese 58 (Z=25, N=33)
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Manganese 60 (Z=25,
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Manganese 62 (Z=25, N=37)
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All results for Manganese isotopes

Manganese 63 (Z=25, N=38)
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Manganese 65 (Z=25, N=40)
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Manganese 64 (Z=25, N=39)
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Manganese 66 (Z=25, N=41)
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Manganese 68 (Z=25, N=43)
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All results for Manganese isotopes

Manganese 69 (Z=25, N=44) Manganese 70 (Z=25, N=45)
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Manganese 71 (Z=25, N=46) Manganese 72 (Z=25, N=47)
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Manganese 73 (Z=25, N=48) Manganese 74 (Z=25, N=49)
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All results for Manganese isotopes

Manganese 75 (Z=25, N=50) Manganese 76 (Z=25, N=51)
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Manganese 77 (Z=25, N=52) Manganese 78 (Z=25, N=53)
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Manganese 79 (Z=25, N=54) Manganese 80 (Z=25, N=55)
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All results for Manganese isotopes

Manganese 81 (Z=25, N=56)
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